
名前

次の(1)～(5)の計算をせよ。

(1) 12－８÷(－４)

(2) （－５ a＋９ b）－（５ a－２ b）

(3) （－３ x )２

(4) 12 a b ３÷６ a ２ b ２×３ a b

３ x ＋５ y ２ x ＋４ y

(5) －

４ ３

霧島市「今週の１問」

中２数学 11月30日版
Ｈ29鹿児島学習定着度調査問題から



解 答

次の(1)～(5)の計算をせよ。

(1) 12－８÷(－４) ＝ 12＋２

＝ 14

(2) （－５ a＋９ b）－（５ a－２ b）＝ －５ a＋９ b－５ a＋２ b

＝ －10 a＋ 11 b

(3) （－３ x )２ ＝（－３ x ）×（－３ x )

＝ ９ x ２

12 a b ３ ×３ a b

(4) 12 a b ３÷６ a ２ b ２×３ a b ＝

６ a ２ b ２

＝ ２ b ×３ b

＝ ６ b ２

３ x ＋５ y ２ x ＋４ y ９ x ＋15 y ８ x ＋16 y

(5) － ＝ －

４ ３ 12 12

９ x ＋15 y －８ x －16 y

＝

12

x － y

＝

12
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